AP Physics 1:  Review Packet 02 RUBRIC

	Problem 1

(a)
D = vt and H = ½gt2
(
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(b)
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Solving for t:  
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Plugging in to D:  
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(c)
Velocity is multiplied by 2

(
Velocity is multiplied by 2

(
Velocity is outside the radical

(
Velocity is in the numerator

(d)
Height is multiplied by 4

(
Height is multiplied by 4

(
Height is under the radical

(
Height is in the numerator

(e)
Fnet = mg

(
Fnet = mg
(
Only gravity acts on objects in projectile motion

(f)
Kf = ½mv2 + mgh

(
Kf = ½mv2 + mgh
(
Final KE comes from initial KE and PE

Problem 2

(a)
E=F=G=H > A=B=C=D
(
E, F, G, and H are equal

(
A, B, C, and D are equal

(
E, F, G, H higher than A, B, C, D

(
The entire ranking is correct

(
Projectile time only depends on initial height

(
Higher initial height means greater projectile time.


	(b)
F=H > B=D > E=G > A=C
(
F and H equal

(
B and D equal

(
E and G equal

(
A and C equal

(
F and H greater than B and D

(
F and H greater than E and G

(
B and D greater than A and C

(
E and G greater than A and C

(
The entire ranking is correct

(
Projectile distance does not depend on mass

(
Double velocity does more to increase distance than double height

(c)
A=B=C=D=E=F=G=H
(
The entire ranking is correct

(
Acceleration in projectile motion is 9.8 m/s2 (or 10) for all objects.

(d)
C=D=G=H > A=B=E=F
(
C, D, G, and H are equal

(
A, B, E, and F are equal

(
C, D, G, H higher than A, B, E, F

(
The entire ranking is correct

(
Net force is weight force

(
Weight force depends only on mass

(
Greater weight for greater mass

(e)
One Point for Each Correct Bar
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	(f)
H > D > F=G > B > C > E > A
(
H is greatest

(
A is lowest

(
F and G are equal

(
D is greater than B

(
C is greater than E

(
F and G are greater than B

(
D is greater than F and G

(
B is greater than E

(
The entire ranking is correct

(
Final KE is total initial KE and PE

(
Just add up the bars in the diagrams to get final KE

(g)
F=H > B=D > E=G > A=C

(
F and H equal

(
B and D equal

(
E and G equal

(
A and C equal

(
The entire ranking is correct

(
Final speed does not depend on mass

(
Final speed is found by dividing total energy by mass.

Problem 3

(a)
H and D2 must be graphed (the reciprocals of the following are also correct)

(
Student uses 
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Squaring:  
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Slope is:  
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(
Table filled in with H’s and D2’s

(b)
Graph has five points

(
Graph has H (m) on one axis

(
Graph has D2 (m2) on another axis

(
Both axes have equally-spaced numbers on their scales

(
Five dots plotted from the table

(
Best fit straight line shown

(c)
The data analysis should involve making a graph

(
Slope is shown

(
Slope set equal to 2v2/g or g/2v2
(
g is between 1.5 and 1.7 m/s2
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